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K73-17

METANNONNEHOYHbIE
NONMMITUNEHTEPE®TANATHbLIE KOHOEHCATOPbI

METALLIZED POLYESTER FILM CAPACITORS

TexHuuveckue ycnosusa: ANNK.673633.020 TY

lMpepHasHayeHbl AnA

pabotbl B

Lensx

NOCTOAHHOIoO, nepemMeHHOro, nynbcupyrLiero
TOKOB U B UMNYINbCHbIX peXumax.

KoHCTpyKLMSA: OKyKIEHHBIE.

16 +4

H max

HoMuHanbHas eMKoCTb
HomuHanbHoe HanpsbkeHne
(B MHTepBane Temneparyp
-60°C ...+85°C)
PaGouee HanpsixeHne npu 125°C
[onyckaeMoe OTKIOHEHUEe eMKOCTU
TaHreHc yrna notepb npu f = 1kMy
ConpoTueneHve nsonsumm ans
Chom < 0,33 mk®
Unom = 63 B
Unom = 160 B
[MocTosiHHasa BpeMeHn ans
Crom > 0,33 mkd
UHom = 63 B
Unom = 160 B

WHTepBan pabouvx Temneparyp

MN3meHeHVe eMKOCTW B UHTEpBarne
MONOXMTENbHBIX TEMMEPATYP

Hapab6oTtka

CpokK coxpaHsemocTun

Knumatuueckoe ncnonHeHune

O6o03HauyeHune nNpu 3aKase:

KoHgeHcaTop K73-17 - 250 B - 0,47 Mk® +10% -
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3 max

L max

A

0,01 .... 4,7 mk®d
63; 160; 250; 400;
630 B

0,5 UHom

+5; +10; 20 %

<0,008

=212 000 MOm
230 000 MOm

24000 MOm-MkD
210 000 MOM-MkD
-60...+125°C

<18%

15000 4

20 net

B (93+3% oTHOCHT.
BNaXXHOCTU Npw
40+2°C,21 cyTkn)

A 4

Specifications: AMNK.673633.020 TY

Designed to operate in DC, AC and ripple
current circuits and in pulse mode.

Design: dipped.

T
L

| B max |

Rated capacitance
Rated voltage
(temperature range
-60°C...+85°C)
Working voltage at 125°C
Capacitance tolerance
Dissipation factor at f = 1 kHz
Insulation resistance at
Cr<0,33uF
Ur=63V
Urz160V
Time constant at
Cr>0,33 uF
Ur=63V
Ur=160V

Operating temperature range

Capacitance change within
positive temperature range

Operating time

Shelf life

Climatic categories

Ordering example:

0,01 .... 4,7 uF
63; 160; 250; 400;
630 V

0,5 Ur

+5; +10; £20 %

<0,008

212 000 MOhm
230 000 MOhm

> 4000 MOhm-pF
210 000 MOhm-pF
-60...+125°C

<18%

15 000 hours

20 years

RH 93+3%,
40+2°C, 21 days

Capacitor K73-17 - 250 V - 0,47 uF £10% -
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Usows B Cuons MKD Lmax, Bimax, Hrmax, A, d, I\ICIZZ?,QF
U,V C,, uF mm mm mm mm mm i
max
0.18 6 10 14
0.22 6 10 0.6 1.4
0.33 12 6.3 13 10 2.5
0.47 8 15 3
63 0.68 6.3 13 3.5
1.0 18 8 15 15 08 4
1.5 8.5 19 ’ 5.5
2.2 23 8.5 19 7
3.3 10.5 21 20 9
4.7 24 12 25 1.0 12
1.5 12 25 12
160 2.2 25 15.5 25 20 10 14
0.047 6.3 11 06 2
0.068 12 6 14 10 ) 2.5
0.1 8 15 3
0.15 6 13 3.5
250 0.22 18 7 14 15 4
0.33 8.5 16 0.8 5
0.47 8 18 5.5
0.68 23 9 19 20 7
1.0 10.5 21 9
0.022 6 10.5 06 14
0.033 12 6 13 10 ) 1.8
0.047 7 15 2.5
0.068 5 13 3
0.1 18 6 14 15 3.5
400 0.15 8 15 0.8 4
0.22 7 18 5
0.33 23 8.5 19 6
0.47 10 21 20 8
0.68 11 24 10
1.0 24 14 27 1.0 12
0.01 6 10.5 06 1.4
0.015 12 6 13 10 ) 1.8
0.022 7 15 2.5
0.033 6 13 3
0.047 18 7 14 15 3.5
630 0.068 8 15 0.8 4
0.1 7 18 5
0.15 23 8.5 19 6
0.22 10.5 21 20 8
0.33 11.5 24 10
0.47 25 15.5 25 10 12

3aBucumocTb JonyckaeMoro HanpsbkeHus Uy oT TeMnepaTypbl OKpyXXatoLen cpefbl
Permissible voltage U;as a function of ambient temperature
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3aBNCMMOCTb ﬂ,OI’IyCKaeMOIZ amMnnnTyabl NnepemMeHHOro CMHycomnganbHOro HarnpsaXXeHna nnn ,EI,OI'IyCKaeMOIZ
aMnnntyabl nepemeHHO|7| CI/IHyCOWJ,aJ'IbHOﬁ cocTaBnsawoLwen NynbCUpyroLlero HanpaxXeHunsa Ur oT 4yacToTsbl f.

Permissible amplitude of AC sinusoidal voltage or amplitude of AC sinusoidal component of ripple voltage
Ur as a function of frequency f.

Unow, B
160
63 250 400 630
4
B [ t—r— d\\\ N K\
z S~ ~N nl ‘\\ N
102 B N SN ™
x X
6
‘\ — Ty [
4 [ —— . .
€~ SN ™~ - —
2 0 G T -
o oo I ceab. Py . \\
10 N N P —
—= %; %s —
6 s —~
T 4 [r— ~ . .
U, = ™ NS ~ ™ S
N NG N
0 e \\ \\ _—
10, ===
6
4 Ty
2
CHOM
) MK® =
10 15 2,2 3,3 47 638 15 2,2 3,3 476,38 1,5 2,2 3,3 4,7 6,8 5 22 33 47 2 468 2 468 2 468 2 468 2 468 2
-3 -2 -1 0
10 10 10 10 10" 10% 10° 10* 10° 10°
Mpumep onpenenexns Ur Example of calculation of Us :
[aHo: Given:
£= 10 KIt; Coow=0,47 MKO, f=10kHz; C=0.47 WF.
Haxogum: Finding:
Uf=15 B ans UHDM=63 B, Uf=15 V for Ur=63 V,
U=17,4 B anst Uueu=250 B; ij ;’i‘/ \f/ f°l5 L_’;‘=02053_V?
U=19 B ans U,u=400 B; Om03 v f°r =630 \/
U=23 B ans U,ou=630 B. = or Y= :
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3aBUCKHMOCTb AOMYCKAaEMOro pa3maxa MMMyNbCHOro HanpsikeHus AU, OT 4acToTbl criefoBaHns
umnynbcoB F,, ANUTENbHOCTU HAUMEHBLLETO U3 BPEMEHHbIX Y4aCTKOB, COOTBETCTBYHOLUMX (PPOHTY Tg, MK
cnaay T, uMnynbca, U HOMUHANbLHOW eMKOCTU Ciou

Permissible peak-to-peak pulse voltage AU, as a function of pulse repetition frequency F,, minimal

temporal sector, corresponding pulse leading edge slope Ty or pulse trailing edge slope T. and rated
capacitance C,
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Mpumep onpenenenns AU,: Example of calculation of AU,:
[aHo: Given:
Fu=10°Tu, To =Tc=10%c, Fu.=10°Hz, T =T.=10%s,
Cion = 0,47 MKP U,ou = 250 B, U.ow = 630 B, U-=250V, U, =630V, C,=0,47 pF
Haxogum: Finding:
ansa U, =250B  AU,=31%01250B=77,5B atU,=250V AU=31% of 250 V =77,5V
oanst U, =630B  AU,=19% o1 630 B = 119,7 B atU,=630V AU=19% of 630 V =119,7V
[aHo: Given:
F.=1,6-10*TuU, To = Tc = 3105 ¢, F.=1,610Hz, 16 = 1. =3-10%c,
Uuow =400 B, Cion = 1,0 MkP U-=400V, C,=1,0 uF
Haxognm: AU, =10% ot 400B =40B Finding: AU.= 10% of 400 V=40 V

MpeaenbHO Aonyckaemble amnnuTyaa MMnynbcHoro Toka I 1 ckopocTb nameHeHus HanpspkeHna dU/dt
Maximum permissible amplitude of pulse current I, and rate of the voltage change dU/dt

U.ow, B Ciomy MK® Im, max, duU/dt, max,
U,V C., uF A V/us

0,18...0,47 2,4...6,1 13
63 0,68...1,5 54..12,0 8
2,2..47 8,8...18,8 4
160 1,5..2,2 19,5...28,6 13
0,047...0,1 1,2..2,5 25
250 0,15...0,33 2,2..5,0 15
0,47..1,0 6,1...13,0 13
0,022...0,047 0,8..1,6 35
400 0,068...0,15 1,4..3,0 20
0,22...1,0 3,5...16,0 16
0,01...0,022 0,5..1,1 50
630 0,033...0,068 1,0...2,0 30
0,1...0,47 2,5..117 25
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